

# CASE STUDY -GIFTS B2C ECOMMERCE PLATFORM DEVELOPMENT



# **About The Client and Project**

Hunan gifts Co., LTD., which focus on gift planning, design, development, production and sales. This project is for the company to build a one-stop online exhibition, marketing and promotion of solutions, including enterprise website, gift industry B2C e-commerce sites, back office management system, the android mobile applications, the IOS mobile applications.

The project is mainly composed of three parts, there are including:

- 1) Eshop ecommerce
- 2) Mobile App( IOS and Android)
- 3) Back office( The third party management system)

### **Our solution for B2C ecommerce platform**

According to client requirements, we first proposal our solution for this project: our resources, our costing, our project schedule, our tools and technology.

### Resources

Resource	No. of Man days / Total man resources Resource days
eShop	

### **Our Services**









Duning the second	14	140	140
Project manager	1	40	40
Project architect and technical director	1	100	100
PHP Engineer (eShop & eShop management)	2	100	200
Front end developers (eShop)	2	40	80
Graphic designer (eShop)	1	30	30
QA Engineer (eShop)	2	30	60
			510
Mobile App	-		
Project manager	1	20	20
Android developer (eShop)	1	80	80
iOS developer (eShop)	1	80	80
Graphic designer (app)	1	20	20
QA Engineer	1	20	20
			220
Back office	-	-	
Project manager	1	80	80
Architect	1	60	60
Java developer / PHP	3	160	480
QA Engineer	3	60	180
			800

# Costing

eShop and management

510 man days

 $510 \times 500 = 255,000 \text{ RMB}$ 

Mobile App (Android + iOS)

220 man days

 $220 \times 500 = 110,000 \text{ RMB}$ 

Back office

800 man days

 $800 \times 500 = 400,000 \text{ RMB}$ 

Project schedule**eShop:** 87 days after project start



×

Mobile app: 80 days after project start (Note: App can be launch along

eShop)

Back office: 150 days after project start (Note: it also includes testing

and issues fixing)

Company website: Need requirements (Note: Company website can be

launch before eShop)

Tools and technology

Language: Java & PHP

**Database:** MySQL 5.5

eShop: ZEND Framework , Magento system, HTML, CSS, JQuery,

BootStrap

**Echo management:** Hibernate, JSF 2.1, Prime-faces

Webservice: SOAP, REST

Integration plug in for backend:

**CRM Integration**: Sugar CRM Bridge

**ERP plugin:** eShopConnect

The client is very satisfied with our proposal and we are now discussing more details with them, when everything is confirmed, we will begin our first cooperation.

## **About CCJK**

Founded in 2000 and born for Internet, CCJK is a highly trusted

# Our Services Document Translation Services Interpretation Services Desktop Publishing Services Video Translation Solutions

×

professional e-Services company supported by more than 2,000 talented linguists, engineers, designers and programmers who work as a super organized team. From language translation, desktop publishing, graphic design, software localization, website development, SEO, user guide to corporate eLearning, we provide one stop solution to help client gain competitive edge. We rely on streamlined and sophisticated process to ensure fast and quality delivery. By trusting CCJK's one stop solution, you need only focus on your core business, win market share and maximize your profit in simplest and soonest way. If you have any translation inquiries, please feel free to contact Jolie.ben@ccjk.com

# **CCJK** services portfolio:

- 1. Document translation
- 2. Website localization
- 3. Software/mobile app localization
- 4. E-learning courses: development & adaptation
- 5. Voiceovers & subtitling
- 6. Language interpretation

